
  



  



  



  



  



  



  



  



  



  



Triremes were part of the legacy of the Ancient Greeks, but what were they? 

ANSWERS 

Can you find out: Why Triremes were so important in Greek life? 

______Triremes were so important because they were unable to be caught by any other ship, they were fast in the 

water and able to manoeuvre very swiftly.  This gave the Greeks a huge advantage to ruling the seas near them. 

_________________________________________________________________________________________ 

 

How long they were in use for? 

__________They were in use for over 3 centuries, from the 7th to the 4th century BC__________________________ 

_______________________________________________________________________________________________ 

 

Why were they so fast in the water?   

____They were so fast in the water because they were long and slender.  This caused les friction from the water to 

the hull of the boat and made it faster. _______________________________________________________________ 

_______________________________________________________________________________________________ 

 

What other vessels as that time could catch them?   

____________No other ship or boat was able to catch a well-run Trireme – that’s why they stayed in use for over 

300 years.  _____________________________________________________________________________________ 

_______________________________________________________________________________________________ 

 

How many men rowed on a Trireme and were they slaves of Greece?  

170 men rowed each Trireme in a bank of 3 heights of rowers.  They were free men who wanted to be in the armies 

but could not afford the armour to be a Hoplite soldier.  They were paid to row on the boats. 

_______________________________________________________________________________________________ 

_______________________________________________________________________________________________ 

 

  



  



  



  



MASTERS CHALLENGE   2 x 2 = 4 24 ÷ 6= 4 10 x 9 = 90 

8 x 7 =56 44 ÷  4 = 11 8 x 12 =96 

3 x 3 = 9 3 x 4 = 12 8 x 8 = 64 

5 x 4 = 20 4 x 4 = 16 54 ÷ 9 =  6 

1 x 1 = 1 5 x 3 = 15 40 ÷ 8 =  5 

48 ÷ 6  =8 3 x 8 = 24 6 x 3 = 18 

28 ÷ 4 =7 60 ÷ 12 =5 6 x 12 =72 

3 x 6 = 18 36 ÷ 3 =  12 3 x 6 = 18 

4 x 7 = 28 4 x 11 =44 4 x 12 =48 

4 x 5 = 20 3 x 5 = 15 9 x 5 = 45 

9 x 7 =63 9 x 11 =99 9 x 12 =108 

42 ÷ 7 =6 4 x 8 = 32 8 x 9 = 72 

45 ÷ 5 =9 12 x 11 = 132 12 x 12 =144 

5 x 6 = 30 9 ÷ 1 =  9 10 ÷ 5 =  2 

3 x 7 = 21 10 x 3 = 30 6 x 6 = 36 

2 x 9 =18 9 x 9 = 81 90 ÷ 10 = 9 

36 ÷ 9 = 4 8 x 3 = 24 10 x 10 = 100 

121 ÷ 11 = 11 72 ÷ 9 =  8 10 x 3 = 30 

1 x 7 = 7 66 ÷ 6 = 11 48 ÷ 4 = 12 

8 x 4 = 32 1 x 10 =10 54 ÷ 6 = 9 

99 ÷ 9= 11 6 x 5 = 30 108  ÷  9 = 12   

5 x 7 = 35 5 x 11 =55 5 x 12 = 60 

9 x 2 = 18 2 x 8 =  16 8 x 10 = 80 

7 x 7 =49 7 x 11 = 77 7 x 12 =84 

11 x 7 =77 11 x 11 = 121 11 x 12 = 132 

6 x 10 = 60 63 ÷ 7 =  9 3 x 9 = 27 

3 x 7 = 21 3 x 11 = 33 3 x 12 = 36 

8 x 5 = 40 4 x 10 = 40 18 ÷ 2 = 9 

2 x 11 = 22 6 x 9 = 54 10 x 10 = 100 

8 x 7 = 56 60 ÷ 5 = 12 12 ÷ 1 =  12 

4 x 7 = 28 84 ÷ 7 =  12 9 x 7 = 63 

88 ÷ 8=11 10 x 11 = 110 72 ÷ 6 = 12 

10 x 7 = 70 10 x 11 = 110 10 x 12 = 120 

3 x 12 = 36 120 ÷ 12 = 10 36 ÷ 3 = 12 

 



 

Master Master Challenge  

72 ÷ 8 = 9 6 ÷ 1 = 6 56 ÷ 7 = 8 18 ÷ 2 =  9 
64 ÷ 8 = 8 18 ÷ 3 = 6 24 ÷ 3 = 8 40 ÷ 8 =  5 
28 ÷ 7 = 44 30 ÷ 6 = 5 8 ÷ 8 = 1 56 ÷ 7 = 8 
9 ÷ 9 = 1 32 ÷ 8 = 4 12 ÷ 4 = 3 24 ÷ 6 = 4 
54 ÷ 9 = 6 12 ÷ 4 = 3 35 ÷ 7 = 5 12 ÷ 2 = 6 
40 ÷ 8 = 5 18 ÷ 6 = 3 15 ÷ 3 = 3 9 ÷ 1 = 9 
1 ÷ 1 = 1 16 ÷ 8 = 2 56 ÷ 8 = 7 35 ÷ 7 = 5 
63 ÷ 9 = 7 2 ÷ 2 = 1 36 ÷ 4 = 9 42 ÷ 6 = 7 
27 ÷ 9 = 3 36 ÷ 4 = 9 9 ÷ 1 =9 15 ÷ 5 = 3 

16 ÷ 2 = 8 54 ÷ 6 = 9 12 ÷ 6 = 2  6 ÷ 1 = 6 
7 ÷ 1 = 7 72 ÷ 9 =8 36 ÷ 9 = 4 9 ÷ 9 = 1 
12 ÷ 3 = 4 14 ÷ 2 = 7 30 ÷ 5 = 6 24 ÷ 6 = 4 
27 ÷ 3 = 9 24 ÷ 4 = 6 6 ÷ 1 = 6 45 ÷ 5 =  9 
10 ÷ 2 = 5 30 ÷ 6 = 5 48 ÷ 6 = 8 8 ÷ 4 = 2 
16 ÷ 4 = 4 45 ÷ 9 = 9 2 ÷ 2 = 1 7 ÷ 1 = 7 
3 ÷ 3 = 1 16 ÷ 4 = 4 21 ÷ 7 = 3 9 ÷ 9 = 1 
18 ÷ 3 = 6 21 ÷ 7 = 3 9 ÷ 3 = 3 30 ÷ 5 = 6 
40 ÷ 5 =  8 81 ÷ 9 = 9 30 ÷ 6 = 5 32 ÷ 4 = 8 
32 ÷ 4 = 8 16 ÷ 2 = 8 14 ÷ 2 = 7 12 ÷ 3 = 4 
24 ÷ 4 = 6 35 ÷ 5 = 7 56 ÷ 8 = 7 63 ÷ 9 = 7 
45 ÷ 5 = 9 49 ÷ 7 = 7 36 ÷ 4 =9 24 ÷ 8 = 3 
40 ÷ 5 =  8 54 ÷ 9 = 6 18 ÷ 9 = 2 25 ÷ 5 = 5 
20 ÷ 4 =  5 15 ÷ 3 = 5 20 ÷ 5 = 4 32 ÷ 4 = 8 
48 ÷ 6 = 8 20 ÷ 5 = 4 24 ÷ 8 = 3 36 ÷ 9 = 4 
54 ÷ 6 = 9 28 ÷ 7 = 4 24 ÷ 4 = 6 48 ÷ 8 = 6 

 


